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THE GAUHATI HIGH COURT AT GUWAHATI

(The High Court of Assam, Nagaland, Mizoram and Arunachal Pradesh)
Written Examination (OMR based Objective Type Questions with Multiple Choices) for the Direct
Recruitment to the post of Court Attendant in the Aizawl Bench of the Gauhati High Court, 2023.

Date: 28-01-2023 (Saturday) Time: 01:00 PM to 2:30 PM
otal Marks: 50 Duration: 12 Hours

Ea question carries 1 mark. There is no hegative marking.

1) Who was the leader of the Champaran Indigo Movement?

a) Mahatma Gandhi b) Birsa Munda C) Baba Ranchandra d) Ram Singh
2) The Sepoy Mutiny took place in the year-

a) 1757 b) 1761 ) 1836 d) 1857
3) Which state of India has the largest area? '

a) Uttar Pradesh b) Madhya Pradesh c¢) Maharashtra d) Rajasthan
4) Who is the head of a State?

a) President b) Prime Minister c) Governor d) Chief Minister
5) What is the longest day in the year?

a) 25" December  b) 21% March ¢) 21% June d) 23rd September
6) Our solar system is a part of which Galaxy?

a) Andromeda b) Triangulum c) Milky Way d) Bode's
7) Name the longest river in Asia.

a) Yenisei b) Amazon ¢) Nile d) Yangtze
8) When was the first General Election of India held?

a) 1949 b) 1950 ¢) 1955 d) 1952
9) Which of the states of India has the longest coastline?

a) Maharashtra b) Andhra Pradesh  ¢) Kerala d) Gujarat
10) Light-year is a unit of-

a) Time _ b) Distance ¢) Light d) Intensity of light
11) Where does most of the digestive processes take place?

a) Small Intestine b) Large Intestine c) Esophagus d) Rectum
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12) The mirror used in a car as rear view is-
a) Plain b) Concave c) Convex d) None of these
13) Which one is the longest river in Mizoram?
a) Chimtuipui b) Tuivawl ¢) Tutis d) Tlawng
14) Who is the first Chief Minister of Mizoram?
a) Lal Thanhawla b) Landenga c) T. Sailo d) C. Chhunga
15) The total humber of states that shéres its border with Mizoram
a) 3 b) 4 C)5 d) 7
16) Who was the first recipient of Padma Shri award from Mizoram?
a) R.K. Lelhluna b) Khawl Kungi c) Anselm Sawihlira d) Jamesh Dokhuma
17) Who won a Gold Medal at the Commonwealth games 2022 from Mizoram?
a) Lalrindika Ralte  b) Jeremy Lalrinnunga ¢) Jeje Lelpekhlua  d) Robert Lalthlamuana
18) Which article in the Indian Constitution gave special provision for Mizoram?
a) 371C b) 371D c) 371E d) 371G
19) When was the Aizwal Permanent Bench of the Gauhati High Court established?
a) 5" July, 1990  b) 5% July,1991 - ¢) 15" June, 1990 d) 17* June, 1992
20) The first News Paper published in Mizo language was-

a) Mizo Chanchin b) Mizo Chanchin Laisuih ¢) Mizo leh Vai Chanchin d) Kriatian Tlangau

-hoose the corre ord from the following:

21) a) Bougquete b) Bouquet c) Boquet d) Bouquette

22) a) Mediocre b) Mediocar c) Mediokar d) None of these

23) a) Etiquete b) Ettiquete C) Etiquette d) Ettiquette

24) a) Pedestrean D) Pedestrian c) Padestrian d) Pedistrian

25) a) Neccessary b) Temparory c) Itinerary d) Sanguinery
S orre no S:

26) Wrath

a) Patience b) Delight C) Jealous d) Anger
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27) Baffle

a) Insult b) Confuse ¢) Defame d) Antagonize
28) Apposite
a) Kind b) Favourable ¢) Eloquent d) Appropriate
Choose the correct antonyms:
29) Aware
a) Uncertain b) Ignorant C) Sure d) Doubtful
30) Engage
a) Abstain b) Liberate c) Deploy d) Join
31) Ruthless
a) Malicious b) Wanton c) Pity d) Merciful
32) A steady mind triumphs __difficulties.
a) at b) over c) with d) in
33) He was appointed the post.
a) to b) for ¢) in d) None of these
34) One should not boast one’s wealth.
a) of b) for C) at d) in.
35) He was debarred sitting for the examination.
a) from b) to C) by d) in

36) A is the son of B. C is the granddaughter of D, who in turn is the husband of B.

How is D related to A?

a) Father b) Cousin ¢) Mother d) Brother
37) What should come next in the following letter series?
PQRSTABCDEPQRSABCDPQRABCPQ?
a) R b) T c) A d) B
38) If PEOPLE is coded as PLPOEE, how is TREND coded?

a) TREND b) TRDNE ¢) DNERT d) TNERD




39) If clock is called television, television is called radio, radio is called oven, oven is called grinder and grinder
is called iron, in what will a lady bake?

a) Radio b) Oven c) Grinder d) Iron
40) 6, 11, 21, 36, 56, (.......)

a) 42 b) 81 ¢) 51 d) 91
41) Writer is related to Reader in the same way as Producer is related to........

a) Seller | b) Consumer c) Creator d) Contractor
42) Complete the series, 1, 4, 9, 16, 25, ....

a) 36 b) 38 <) 49 d) 52

43) A can do a work in 15 days and B in 30 days. If they work together, how much time will A and B take to
- complete the work?

a) 20 days b) 12 days ¢) 10 days d) 7 days
44) Reena is twice as old as Sushil. Three years ago, she was three times as old as Sushil. How old is Reena?

a) 6 years b) 12 years C) 14 years d) 16 years
45) Arrange from North to South:

1. Wayanad 2. Delhi 3. Ladakh 4. Goa

a) 1-4-2-3 b) 3-2-1-4 c) 3-2-4-1 d) 2-1-3-4
46) FIFA World Cup 2022 was organized by which Country?

a) Japan b) Qatar C) Spain d) Brazil
47) Which country won the T20 Cricket Asia Cup 20227

a) India b) Pakistan c) Bangladesh d) Sri Lanka
48) Hon'ble President of India Smt. Droupadi Murmu belongs to which tribe?

a) Santhal tribe b) Munda tribe ¢) Gond tribe d) Bodo tribe

49) Recently, how many islands in Andaman & Nikobar Islands have been named after the Param Vir Chakra
awardees?

a) 14 b) 21 c) 25 d) 20
50) Who is the youngest batsman to hit a Double Century in One day International Cricket?

a) Ishan Kishan b) Harry Brook c) Cameron Green d) Shubman Gill
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